MIT OpenCourseWare <u>http://ocw.mit.edu</u>

6.641 Electromagnetic Fields, Forces, and Motion, Spring 2005

Please use the following citation format:

Markus Zahn, *6.641 Electromagnetic Fields, Forces, and Motion, Spring 2005.* (Massachusetts Institute of Technology: MIT OpenCourseWare). <u>http://ocw.mit.edu</u> (accessed MM DD, YYYY). License: Creative Commons Attribution-Noncommercial-Share Alike.

Note: Please use the actual date you accessed this material in your citation.

For more information about citing these materials or our Terms of Use, visit: <u>http://ocw.mit.edu/terms</u>

## 6.641, Electromagnetic Fields, Forces, and Motion Prof. Markus Zahn Lecture 17: Transient Waves on Transmission Lines

I. Wave Equation (Loss Less)

 $\frac{\partial v}{\partial z}$ 

$$= -L \frac{\partial i}{\partial t}$$
$$\Rightarrow \frac{\partial^2 v}{\partial t^2} = c^2 \frac{\partial^2 v}{\partial z^2}$$

$$\frac{\partial i}{\partial z} = -C \frac{\partial v}{\partial t} \qquad \qquad c^2 = \frac{1}{\sqrt{LC}} = \frac{1}{\sqrt{\epsilon \mu}}$$

Solution: 
$$v(z,t) = V_{+}\left(t - \frac{z}{c}\right) + V_{-}\left(t + \frac{z}{c}\right)$$

Proof: Let  $\alpha = t - \frac{z}{c} \Rightarrow \frac{\partial \alpha}{\partial t} = 1$ ,  $\frac{\partial \alpha}{\partial z} = -\frac{1}{c}$  (Positive z directed waves)

Superposition: 
$$V_{+}(z,t) = V_{+}\left(t-\frac{z}{c}\right) = V_{+}(\alpha)$$

$$\frac{\partial v_{+}}{\partial t} = \frac{dv_{+}}{d\alpha} \frac{\partial \alpha}{\partial t} = \frac{dv_{+}}{d\alpha}$$

$$\frac{\partial^2 v_{+}}{\partial t^2} = \frac{d^2 v_{+}}{d\alpha^2} \frac{\partial \alpha}{\partial t} = \frac{d^2 v_{+}}{d\alpha^2}$$

$$\frac{\partial v_{_+}}{\partial z} \;\; = \;\; \frac{dv_{_+}}{d\alpha} \; \frac{\partial \alpha}{\partial z} = - \frac{1}{c} \; \frac{dv_{_+}}{d\alpha} \;$$

$$\frac{\partial^2 v_{_+}}{\partial z^2} = - \; \frac{1}{c} \; \frac{d^2 v_{_+}}{d\alpha^2} \; \frac{\partial \alpha}{\partial z} = \; + \; \frac{1}{c^2} \; \frac{d^2 v_{_+}}{d\alpha^2} \;$$

$$\frac{\partial^2 v_+}{\partial t^2} = \frac{d^2 v_+}{d\alpha^2} = c^2 \frac{\partial^2 v}{\partial z^2} = c^2 \left(\frac{1}{c^2} \frac{d^2 v_+}{d\alpha^2}\right) = \frac{d^2 v_+}{d\alpha^2}$$

Negative z directed waves: Let  $\beta = t + \frac{z}{c} \Rightarrow \frac{\partial \beta}{\partial t} = 1$ ,  $\frac{\partial \beta}{\partial z} = \frac{1}{c}$ 

$$\begin{aligned} \frac{\partial v_{-}}{\partial t} &= \frac{dv_{-}}{d\beta} \quad \frac{\partial \beta}{\partial t} = \frac{dv_{-}}{d\beta} \\ \frac{\partial^{2} v_{-}}{\partial t^{2}} &= \frac{d^{2} v_{-}}{d\beta^{2}} \quad \frac{\partial \beta}{\partial t} = \frac{d^{2} v_{-}}{d\beta^{2}} \\ \frac{\partial v_{-}}{\partial z} &= \frac{dv_{-}}{d\beta} \quad \frac{\partial \beta}{\partial z} = \frac{1}{c} \quad \frac{dv_{-}}{d\beta} \\ \frac{\partial^{2} v_{-}}{\partial z^{2}} &= \frac{1}{c} \quad \frac{d^{2} v_{-}}{d\beta^{2}} \quad \frac{\partial \beta}{\partial z} = \frac{1}{c^{2}} \quad \frac{d^{2} v_{-}}{d\beta^{2}} \\ \frac{\partial^{2} v_{-}}{\partial t^{2}} &= \frac{d^{2} v_{-}}{d\beta^{2}} = c^{2} \quad \frac{\partial^{2} v_{-}}{\partial z^{2}} = c^{2} \left(\frac{1}{c^{2}} \quad \frac{d^{2} v_{-}}{d\beta^{2}}\right) = \frac{d^{2} v_{-}}{d\beta^{2}} \end{aligned}$$

II. Solution for current i(z,t)

$$\begin{array}{l} \frac{\partial v}{\partial z} &= -L \ \frac{\partial i}{\partial t} \\ \\ & \Rightarrow \frac{\partial^2 i}{\partial t^2} &= c^2 \ \frac{\partial^2 i}{\partial z^2} \\ \frac{\partial i}{\partial z} &= -C \ \frac{\partial v}{\partial t} \end{array}$$

Solution:  $i(z,t) = I_{+}\left(t - \frac{z}{c}\right) + I_{-}\left(t + \frac{z}{c}\right)$ 

$$v(z,t) = V_{+}\left(t-\frac{z}{c}\right) + V_{-}\left(t+\frac{z}{c}\right)$$

+z Solution:  $\alpha = t - \frac{z}{c}$ ,  $\frac{\partial \alpha}{\partial t} = 1$ ,  $\frac{\partial \alpha}{\partial z} = -\frac{1}{c}$  $\frac{\partial v_{+}}{\partial z} = -L \frac{\partial i_{+}}{\partial t} \Rightarrow \frac{d v_{+}}{d \alpha} \frac{\partial \alpha}{\partial z} = -\frac{1}{c} \frac{d v_{+}}{d \alpha} = -L \frac{d i_{+}}{d \alpha} \frac{\partial \alpha}{\partial t}$  $= -L \frac{d i_{+}}{d \alpha}$ 

$$\begin{split} \frac{dv_{_+}}{d\alpha} &= L \, c \, \frac{di_{_+}}{d\alpha} = \frac{L}{\sqrt{LC}} \, \frac{di_{_+}}{d\alpha} = \sqrt{\frac{L}{C}} \, \frac{di_{_+}}{d\alpha} \\ v_{_+} &= i_{_+}Z_0 \Rightarrow I_{_+} \left( t - \frac{z}{c} \right) = Y_0 V_+ \left( t - \frac{z}{c} \right) \\ Y_0 &= \sqrt{\frac{C}{L}} = \frac{1}{Z_0} \end{split}$$

-z Solution:  $\beta = t + \frac{z}{c}$ ,  $\frac{\partial \beta}{\partial t} = 1$ ,  $\frac{\partial \beta}{\partial z} = \frac{1}{c}$ 

$$\frac{\partial v_{-}}{\partial z} = -L\frac{\partial i_{-}}{\partial t} \Rightarrow \frac{d v_{-}}{d\beta} \frac{\partial \beta}{\partial z} = \frac{1}{c} \frac{d v_{-}}{d\beta} = -L\frac{d i_{-}}{d\beta} \frac{\partial \beta}{\partial t}$$

$$= -L \frac{di_{-}}{d\beta}$$

$$\begin{aligned} \frac{dv_{-}}{d\beta} &= -Lc \frac{di_{-}}{d\beta} = \frac{-L}{\sqrt{LC}} \frac{di_{-}}{d\beta} &= -\sqrt{\frac{L}{C}} \frac{di_{-}}{d\beta} \\ v_{-} &= -Z_{0} i_{-} \Rightarrow I_{-} \left(t + \frac{z}{c}\right) = -Y_{0} V_{-} \left(t + \frac{z}{c}\right) \\ v\left(z,t\right) &= V_{+} \left(t - \frac{z}{c}\right) + V_{-} \left(t + \frac{z}{c}\right) \\ i\left(z,t\right) &= Y_{0} \left[V_{+} \left(t - \frac{z}{c}\right) - V_{-} \left(t + \frac{z}{c}\right)\right] \end{aligned}$$

- III. Transmission Line Transient Waves
  - A. Transients on Infinitely Long Transmission Lines
    - 1. Initial Conditions

$$v(z, t = 0) = 0 = V_{+}\left(-\frac{z}{c}\right) + V_{-}\left(\frac{z}{c}\right) = 0$$

$$i(z, t = 0) = 0 = Y_{0}\left[V_{+}\left(-\frac{z}{c}\right) - V_{-}\left(\frac{z}{c}\right)\right] = 0$$

$$V_{+}\left(-\frac{z}{c}\right) = 0, \quad V_{-}\left(\frac{z}{c}\right) = 0$$

$$z > 0, \quad t > 0 \implies t + \frac{z}{c} > 0 \implies V_{-}\left(t + \frac{z}{c}\right) = 0$$

$$t - \frac{z}{c} > 0 \quad \text{if} \quad t > \frac{z}{c} \quad \text{to allow} \quad V_{+}\left(t - \frac{z}{c}\right) \neq 0$$

With 
$$V_{-}\left(t+\frac{z}{c}\right) = 0 \Rightarrow v(z,t) = V_{+}\left(t-\frac{z}{c}\right)$$
  
 $i(z,t) = Y_{0}V_{+}\left(t-\frac{z}{c}\right) \Rightarrow \frac{v(z,t)}{i(z,t)} = Z_{0}$ 

2. Traveling Wave Solution with Source Resistance  $\ensuremath{\mathsf{R}}_{\ensuremath{\mathsf{s}}}$ 

$$v(z = 0, t) = V(t) = V_{+}(t)$$

$$v(z = 0, t) = \frac{Z_0}{Z_0 + R_s}V(t) = V_+(t)$$

$$i(z = 0, t) = Y_0V_+(t) = \frac{V(t)}{R_s + Z_0}$$

Lecture 17 Page 4 of 20

$$v(z, t) = \frac{Z_0}{Z_0 + R_s} V\left(t - \frac{z}{c}\right)$$
$$i(z, t) = \frac{V\left(t - \frac{z}{c}\right)}{R_s + Z_0}$$



(a) A semi-infinite transmission line excited by a voltage source at z = 0. (b) To the source, the transmission line looks like a resistor  $Z_0$  equal to the characteristic impedance. (c) The spatial distribution of the voltage v(z,t) at various times for a staircase pulse of V(t). (d) If the voltage source is applied to the transmission line through a series resistance  $R_s$  the voltage across the line at z = 0 is given by the voltage divider relation.

## B. Reflections from Resistive Terminations

1. Reflection Coefficient



at z = l : v (l, t) = V<sub>+</sub> (t - l/c) + V<sub>-</sub> (t + l/c)  
= i(l, t)R<sub>L</sub>  
= Y<sub>0</sub> R<sub>L</sub> 
$$\left[ V_+ \left( t - \frac{l}{c} \right) - V_- (t + l/c) \right]$$
  
 $\Gamma_L = \frac{V_- (t + l/c)}{V_+ (t - l/c)} = \frac{R_L - Z_0}{R_L + Z_0}$   
Special Cases

- i)  $R_L = Z_0 \Rightarrow \Gamma_L = 0$  (matched line)
- ii)  $R_L = 0 \Rightarrow \Gamma_L = -1$  (short circuited line)

If 
$$R_L < Z_0$$
 ,  $-1 < \Gamma_L < 0$ 

iii)  $R_L = \infty \Rightarrow \Gamma_L = +1$  (open circuited line)

If 
$$R_1 > Z_0$$
 ,  $0 < \Gamma_1 < 1$ 

2. Step Voltage

At 
$$z = 0$$
:  $v(z = 0, t) + i(0, t)R_{s} = V_{0}$ 

$$V_{+}(z = 0, t) + V_{-}(z = 0, t) + Y_{0}R_{s}[V_{+}(z = 0, t) - V_{-}(z = 0, t)] = V_{0}$$

$$V_{+}\left(z=0,t\right) = \Gamma_{s}V_{-}\left(z=0,t\right) + \frac{Z_{0}V_{0}}{Z_{0}+R_{s}}, \ \Gamma_{s} = \frac{R_{s}-Z_{o}}{R_{s}+Z_{0}}$$



(a) A dc voltage V<sub>0</sub> is switched onto a resistively loaded transmission line through a source resistance  $R_S$  (b) The equivalent circuits at z = 0 and z = 1 allow us to calculate the reflected voltage wave amplitudes in terms of the incident waves.

a. Matched Line:  $R_L = Z_0$ ,  $\Gamma_L = 0$ ;  $R_s = Z_0$ ,  $\Gamma_s = 0$ 

$$\Gamma_{L} = 0 \Rightarrow V_{-}\left(t + \frac{z}{c}\right) = 0$$

$$V_{+}\left(z=0,t
ight) = rac{V_{0}}{2}$$
, In steady state after time  $T=rac{l}{c}$ 



b. Short circuited line:  $R_L = 0$ ,  $\Gamma_L = -1$ ,  $R_s = Z_{0}$ ,  $\Gamma_s = 0$ 

$$\Gamma_L = -1 \Rightarrow V_+ = -V_- \text{ . When } V_+ \left(t - \frac{z}{c}\right) \text{ and } V_- \left(t + \frac{z}{c}\right) \text{ overlap}$$

in space, v(z,t) = 0. For  $t \ge 2T = 2I/c$ , v(z,t) = 0,



$$i(z,t) = V_0/Z_0$$

(c) If the line is short circuited ( $R_L = 0$ ), then  $\Gamma_L = -1$  so that the  $V_+$  and  $V_-$  waves cancel for the voltage but add for the current wherever they overlap in space. Since the source end is matched, no further reflections arise at z = 0 so the steady state is reached for  $t \ge 2T$ . (d) If the line is open circuited ( $R_L = \infty$ ) so that  $\Gamma_L = +1$ , the  $V_+$  and  $V_$ waves add for the voltage but cancel for the current.

c. Open circuited line:  $R_L = \infty$ ,  $\Gamma_L = +1$ ,  $R_s = Z_0$ ,  $\Gamma_s = 0$ 

$$\Gamma_{L} = +1 \Longrightarrow V_{+} = +V_{-}$$

$$\label{eq:Forthermal} \text{For } t \geq 2T = 2 \, l/c \, , \quad v \left(z,t\right) = V_0 \, , \quad i \left(z,t\right) = 0$$

3. Approach to the dc Steady State (neither end matched)

$$z = 0: \quad V_{+}(t) = \Gamma_{0}V_{0} + \Gamma_{s}V_{-}(t), \quad \Gamma_{0} = \frac{Z_{0}}{R_{s} + Z_{0}}, \quad \Gamma_{s} = \frac{R_{s} - Z_{0}}{R_{s} + Z_{0}}$$
$$z = I: \quad V_{-}\left(t + \frac{I}{c}\right) = \Gamma_{L}V_{+}\left(t - \frac{I}{c}\right), \quad \Gamma_{L} = \frac{R_{L} - Z_{0}}{R_{L} + Z_{0}}$$

at z = I:

$$V_{+n} = \Gamma_0 V_0 + \Gamma_s V_{-(n-1)}$$
  
 $V_{-(n-1)} = \Gamma_L V_{+(n-1)}$ 

$$V_{+n} = \Gamma_0 \ V_0 + \Gamma_s \ \Gamma_L \ V_{+(n-1)} \qquad \Rightarrow V_{+n} - \Gamma_s \ \Gamma_L V_{+(n-1)} = \Gamma_0 \ V_0$$

Particular Solution:  $V_{+n}$  = constant

Constant 
$$(1 - \Gamma_{s} \Gamma_{L}) = \Gamma_{0} V_{0} \Rightarrow$$
 Constant  $= \frac{\Gamma_{0} V_{0}}{1 - \Gamma_{s} \Gamma_{L}}$ 

Homogeneous Solution:  $V_{+n} - \Gamma_s \Gamma_L V_{+(n-1)} = 0$ 

Try a solution of the form:  $V_{_{\!+\!n}}=A\lambda^n$ 

$$\mathsf{A}\left(\lambda^{n} - \Gamma_{\mathsf{s}}\Gamma_{\mathsf{L}}\lambda^{n-1}\right) \Longrightarrow \lambda = \Gamma_{\mathsf{s}}\Gamma_{\mathsf{L}}$$

$$V_{+n} = \frac{\Gamma_0 V_0}{1 - \Gamma_s \Gamma_L} + A \left( \Gamma_s \Gamma_L \right)^n$$

Initial Condition:

$$V_{+1} = \Gamma_0 V_0 = \frac{\Gamma_0 V_0}{1 - \Gamma_s \Gamma_L} + A(\Gamma_s \Gamma_L) \Rightarrow A = -\frac{\Gamma_0 V_0}{1 - \Gamma_s \Gamma_L}$$
$$V_{+n} = \frac{\Gamma_0 V_0}{1 - \Gamma_s \Gamma_L} \left[ 1 - (\Gamma_s \Gamma_L)^n \right]$$

$$\begin{split} V_{-(n-1)} &= \Gamma_L V_{+(n-1)} \implies V_{-n} = \Gamma_L V_{+n} \\ V_n &= V_{+n} + V_{-n} = V_{+n} \left( 1 + \Gamma_L \right) = \frac{V_0 \left( 1 + \Gamma_L \right) \Gamma_0 V_0}{1 - \Gamma_s \Gamma_L} \Big[ 1 - \left( \Gamma_s \Gamma_L \right)^n \Big] \\ &= \frac{R_L}{R_L + R_s} V_0 \Big[ 1 - \left( \Gamma_s \Gamma_L \right)^n \Big] \end{split}$$

$$\lim_{n \to \infty} V_n = \frac{R_L}{R_L + R_s} V_0$$



The load voltage as a function of time when  $R_S = 0$  and  $R_L = 3Z_0$  so that  $\Gamma_S \Gamma_L = \frac{-1}{2}$  (solid) and with  $R_L = \frac{1}{3}Z_0$  so that  $\Gamma_S \Gamma_L = \frac{1}{2}$  (dashed). The dc steady state is the same as if the transmission line were considered a pair of perfectly conducting wires in a circuit.

$$\begin{split} I_{n} &= Y_{0} \left[ V_{+n} - V_{-n} \right] = Y_{0} \left( 1 - \Gamma_{L} \right) V_{+n} &= \frac{Y_{0} \left( 1 - \Gamma_{L} \right) \Gamma_{0} V_{0} \left[ 1 - \left( \Gamma_{s} \Gamma_{L} \right)^{n} \right]}{1 - \Gamma_{s} \Gamma_{L}} \\ &= V_{0} \left[ 1 - \left( \Gamma_{s} \Gamma_{L} \right)^{n} \right] / \left( R_{L} + R_{s} \right) \end{split}$$

Lecture 17 Page 11 of 20 a. Special Case:  $R_{s}$  = 0,  $R_{L}$  =  $3Z_{0}$ 

$$\Gamma_{s} = -1, \ \Gamma_{L} = \frac{R_{L} - Z_{0}}{R_{L} + Z_{0}} = \frac{2}{4} = \frac{1}{2} \Rightarrow \Gamma_{s} \Gamma_{L} = -\frac{1}{2}$$

$$z = I \qquad V_n = V_0 \left[ 1 - \left( -\frac{1}{2} \right)^n \right]$$
$$I_n = \frac{V_0}{3Z_0} \left[ 1 - \left( -\frac{1}{2} \right)^n \right]$$

b. Special Case:  $R_s = 0$ ,  $R_L = \frac{1}{3}Z_0$ 

$$\Gamma_{s} = -1, \ \Gamma_{L} = \frac{R_{L} - Z_{0}}{R_{L} + Z_{0}} = \frac{\frac{-2}{3}}{\frac{4}{3}} = -\frac{1}{2} \Rightarrow \Gamma_{s} \Gamma_{L} = +\frac{1}{2}$$
$$z = I \qquad V_{n} = V_{0} \left[ 1 - \left(\frac{1}{2}\right)^{n} \right]$$

c. Special Case: 
$$R_s = 0$$
,  $R_L = \infty$  (open circuit)

$$\Gamma_{s}\Gamma_{L} = -1$$

$$V_{n} = \frac{R_{L}}{R_{s} + R_{L}} V_{0} \left[ 1 - \left( \Gamma_{s} \Gamma_{L} \right)^{n} \right] = V_{0} \left( 1 - \left( -1 \right)^{n} \right)$$

$$= \begin{cases} 0 & n \text{ even} \\ \\ 2V_0 & n \text{ odd} \end{cases}$$



d. Special Case:  $R_s = 0$ ,  $R_L = 0$  (Short circuit)

$$\begin{split} &\Gamma_{s} \Gamma_{L} = +1 \\ &I_{n} = \frac{V_{0}}{R_{L} + R_{S}} \Big[ 1 - \big( \Gamma_{S} \Gamma_{L} \big)^{n} \Big] \text{ Indeterminate} \\ &\Gamma_{S} = \frac{R_{S} - Z_{0}}{R_{S} + Z_{0}} = \frac{\frac{R_{S}}{Z_{0}} - 1}{\frac{R_{S}}{Z_{0}} + 1} \approx - \left( 1 - \frac{R_{S}}{Z_{0}} \right)^{2} \approx - \left( 1 - \frac{2R_{S}}{Z_{0}} \right) \\ &\Gamma_{L} = \frac{R_{L} - Z_{0}}{R_{L} + Z_{0}} \approx - \left( 1 - \frac{2R_{L}}{Z_{0}} \right) \\ &I_{n} = \frac{V_{0}}{R_{L} + R_{S}} \Bigg[ 1 - \left[ \left( 1 - \frac{2R_{L}}{Z_{0}} \right) \left( 1 - \frac{2R_{S}}{Z_{0}} \right) \right]^{n} \Bigg] \\ &\approx \frac{V_{0}}{R_{L} + R_{S}} \Bigg[ 1 - \left[ \left( 1 - \frac{2(R_{L} + R_{S})}{Z_{0}} \right) \right]^{n} \Bigg] \\ &\approx \frac{V_{0}}{R_{L} + R_{S}} \Bigg[ 1 - 1 + 2n \left( \frac{(R_{L} + R_{S})}{Z_{0}} \right) \Bigg] \\ &= \frac{V_{0} 2n}{Z_{0}} \end{split}$$

Approximates Inductor

$$V_0 = (LI) \frac{di}{dt} \Rightarrow i = \frac{V_0}{LI} t$$

e. Special Case:  $R_L = \infty$  (Open Circuit) ,  $R_s$  finite



Approximate transmission line as capacitor being charged though resistor  $R_s$ 

$$v(t) = V_0 \left(1 - e^{-t/t}\right)$$
$$T = R_S CI$$

C. Reflections from Arbitrary Terminations



$$\begin{split} v\left(z=l,t\right) &= V_{L}\left(t\right) \\ &= V_{+}\left(t-\frac{l}{c}\right) + V_{-}\left(t+\frac{l}{c}\right) \\ &i\left(z=l,t\right) = I_{L}\left(t\right) = Y_{0}\left[V_{+}\left(t-\frac{l}{c}\right) - V_{-}\left(t+\frac{l}{c}\right)\right] \end{split}$$

$$V_{-}\left(t+\frac{l}{c}\right)=V_{L}\left(t\right)-V_{+}\left(t-\frac{l}{c}\right)$$

a. Capacitor 
$$C_L$$
 at  $z = I$ ,  $R_S = Z_0 \Rightarrow V_+ = \frac{V_0}{2}$ 

$$t > T \qquad V_{L}\left(t\right) \ = v_{c}\left(t\right), \ \ I_{L}\left(t\right) = C_{L} \, \frac{dv_{c}}{dt}$$

$$Z_0 C_L \frac{dv_c}{dt} + v_c = 2V_+ = V_0$$
  $t > T$ 



$$v_{c}\left(t\right) \;=\; V_{0} \; \left[1-e^{-\left(t-T\right) / \left(Z_{0}C_{L}\right)}\right] \; t > T \label{eq:vc}$$

$$\begin{split} T &= I/c \\ V_{-} &= v_{c}\left(t\right) - V_{+} \\ &= \frac{-V_{0}}{2} + V_{0}\left[I - e^{-(t-T)/(Z_{0}C_{L})}\right] \end{split}$$

Lecture 17 Page 17 of 20

$$\begin{split} &= \frac{V_0}{2} \, - V_0 e^{-(t-T)/(Z_0 C_L)} \\ &i_c \;\; = \;\; C_L \, \frac{dv_c}{dt} = \frac{V_0}{Z_0} \, e^{-(t-T)/(Z_0 C_L)} \qquad t > T \end{split}$$

b. Inductor 
$$L_L$$
 at  $z = I$ 

$$L_L \frac{di_L}{dt} + i_L Z_0 = 2V_+ = V_0 \qquad t > T$$

$$i_L \, = \frac{V_0}{Z_0} \Bigl( 1 - e^{-(t-T)Z_0/L_L} \Bigr) \qquad t > T \label{eq:L_lambda}$$

$$v_L = L_L \frac{di_L}{dt} = V_0 e^{-(t-T)Z_0/L_L} \quad t > T$$

## IV. Linear Constant Coefficient Difference Equations



$$\begin{split} D_n &= a D_{n-1} - c^2 D_{n-2} \\ D_n - a D_{n-1} + c^2 D_{n-2} &= 0 \\ D_n &= A \lambda^n \\ A \Big[ \lambda^n - a \lambda^{n-1} + c^2 \lambda^{n-2} \Big] &= 0 \Rightarrow A \lambda^{n-2} \Big[ \lambda^2 - a \lambda + c^2 \Big] &= 0 \\ \lambda^2 - a \lambda + c^2 &= 0 \Rightarrow \lambda = \frac{a}{2} \pm \left[ \left( \frac{a}{2} \right)^2 - c^2 \right]^{1/2} \\ &= c \Bigg[ \frac{a}{2c} \pm \left[ \left( \frac{a}{2c} \right)^2 - 1 \right]^{1/2} \Bigg] \end{split}$$

Lecture 17 Page 19 of 20

Let 
$$\frac{a}{2c} = \cos \theta$$
  
 $\lambda = c \left[ \cos \theta \pm \left[ \cos^2 \theta - 1 \right]^{1/2} \right]$   
 $= c \left[ \cos \theta \pm \left[ -\sin^2 \theta \right]^{1/2} \right]$   
 $= c \left[ \cos \theta \pm j \sin \theta \right]$   
 $= c e^{\pm j\theta}$ 

$$\begin{split} D_n &= A_1 \left( c \, e^{j \theta} \right)^n + A_2 \left( c \, e^{-j \theta} \right)^n \\ &= c^n \left[ A_1 \, e^{j n \theta} + A_2 \, e^{-j n \theta} \right] \\ D_1 &= a = c \left[ A_1 \, e^{j \theta} + A_2 \, e^{-j \theta} \right] \\ D_2 &= a^2 - c^2 = c^2 \left[ A_1 e^{j 2 \theta} + A_2 e^{-j 2 \theta} \right] \\ A_1 \, e^{j \theta} + A_2 \, e^{-j \theta} &= \frac{a}{c} \\ &\Rightarrow A_1 = \frac{e^{j \theta}}{2j \sin \theta} \\ A_2 &= \frac{-e^{-j \theta}}{2j \sin \theta} \\ A_1 \, e^{j 2 \theta} + A_2 \, e^{-j 2 \theta} &= \left( \frac{a}{c} \right)^2 - 1 \end{split}$$

$$D_n = \frac{c^n}{2j\sin\theta} \left[ e^{j(n+1)\theta} - e^{-j(n+1)\theta} \right] = \frac{c^n \sin\left[ (n+1)\theta \right]}{\sin\theta}$$

Check: 
$$D_1 = c \frac{\sin 2\theta}{\sin \theta} = 2\cos \theta = 2c \left(\frac{a}{2c}\right) = a$$

$$\mathsf{D}_2 = \mathsf{c}^2 \frac{\sin 3\theta}{\sin \theta} = \mathsf{c}^2 \left[ 4 \cos^2 \theta - 1 \right] = \mathsf{c}^2 \left[ 4 \left( \frac{\mathsf{a}}{2\mathsf{c}} \right)^2 - 1 \right] = \mathsf{a}^2 - \mathsf{c}^2$$

6.641, Electromagnetic Fields, Forces, and Motion Prof. Markus Zahn

Lecture 17 Page 20 of 20